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Question L
[Soalan 1)
i)

What is the meaning of the term Network. State and explain three(3) elements of
network criteria,

[Apakah maksud untuk terma Rangkaian. Beri dan terangkan tiga(3) elemen kreteria rangkaian J.

|8 Marks/Markah|

b)  There are four types of physical network topology which is mesh, star, bus and ring.
For cach ol the following topology, draw and discuss the consequences if a connection
fails, ‘
[Terdapat empat(d) jenis fizikal topologi rangkaian initu mesh, star, bus dan ring. Bagi setiap topologi,
bincangkan kesan sekimnya sambungan terputus).

i.  FOUR (4) devices arranged in a ring topology
[EMPAT(4) alal diane didalam topologi 'ring™]
|3 Mark/Markah|
i, FIVE(S) devices arranged in a star topology
[1IMA(S) alat diatur didalam tapologl “star |
K] Mark/Markah|
iil. A hybrid of a ring backbone with THREE(3) mesh network
J . |3 Mark/Markah|
¢)  What is the difference between a port address, a logical address, and a physical
address? o7t
[Apukah perbezaan di antara alamat pelabuhan , alamat yang loglk, dan alamat fiztkal? ]

[6 Marks/ Markah]
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Question 2:

{Soalan 2]
a). In Figure 1.1 below. assume that the communication is between a process running at
computer A with port address i and a process running at computer D with port address
J. Show the contents of packets and frames at the network, data link, and transport
layer for each hop.

[Dalam Rajah 1.1 dibawah, anggapkan bahawa komunikasi adalah proses diantara komputer A
dengan alap:a! “port” | dan proses di computer D dengan alamat “port” j. Tunjukkan kandungan
paket dan frame pada lapisan “network”, “data link " dan “transport" untuk setiap “hob".]

LAN | LAN 2 Sender

Figure 1.1 [Rajah 1.1)

[8 Marks/Markah)

b) OS1 model is divided into seven layers and each layer has its functionality. Name the
layer that perform the following functions:

[OSI model telah dibahagiban kepada nguh lapisan dan setiap lapisan menpunyai Sungsi-fungsinya.
Namokan lgpivan wrauk femgsi-fungsi berikut:]

1) Route determination

[Pencratiean lohuan)

i) I'low control

{Kawaian arus)

i) Interface to transmission media
{Sambungan ke media penghontaran]

[3 Marks/Markah)

¢)  We need 1o use synchronous TDM and combine 20 digital sources, each of 500 Kbps. Each
output slot carries 1 bit from each digital source, but one extra bit is added to cach frame
for synchronization. Answer the following questions:
{Kita perlu menggunakan TDM segerak dan menggabungkan 15 sumber digital, setiap satu darimda L(‘J?
Khpe Setiap slot cutput membava | bit dari setiap sumber digital, tetapi sedikit tambahan ditambah
kepada setiap bingkai untuk penyegerakan. Jawab soalan sozlan berikut:/

. Whatis the size of an output frame in bits?
[Apalah saiz bingkal outpt dalam bit ?)
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SULIT

|2 Marks/Markah)

. Whats the output frame rate?

{ Apakah kadar bingkai output?)
|2 Marks/Markah|

m. What s the duration of an output frame?

{Apakah tempoh binghai cugpa®)
|2 Marks/Markah)

wv.  What s the output data rate?
{Apakah badar data ongpns ™ |
|2 Marks/Markah|

What 1s the efficiency of the system (ratio of usceful bits (o the total bits).

| Apakah keockapan woterm (esbah but bergura kepada jumlah bit ) |
|2 Marks/AMarkah]
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